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Example: algebraic difference between gradients:
+5-(-6)=11 length of vertical curve = 11’
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Example: algebraic difference between gradients:
+10-(+2)=8 length of vertical curve = 8'
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Example: algebraic difference between gradients:
-10-(+2)=12 length of vertical curve = 12’

Notes: 1) to prevent contact between road surface and vehicle bumpers or
under-carriage, crest or sag vertical curve must be used between tangents
where the algebraic difference between gradients is greater than 9 percent.
The minimum length of the curve must be 1 foot for each percentage point
of difference between gradients, as shown above.
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